Workplace Math 10 — Notes Name:
Volume of Prisms
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Determine the volume of each prism.
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Or....
Find the volume of a cylinder with a diameter of 2 cm and a height of 5 cm.
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And ...
The volume of a rectangular prism is 26 m3. What is the area of the base if the height is 2 m?
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Mark is making a small display consisting of 4 boxes of Prism Chocolates on the counter next to the cash
register. What is the volume of his display? Show your thinking.
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Mark’s display was a huge success! He has decided to build a much larger version on the end of an aisle.
This one consists of 64 packages which form a triangular prism. The bottom row of his display contains 8
packages. What is the volume of the display? Show your thinking.
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Engineers have designed rectangular culverts to carry water
under a new highway. They estimate that the distance under
the highway is 45m. Determine the volume of concrete they
need to make the required number of culvert pieces. Give your
answer to the nearest tenth of a cubic meter.
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